Subject to modifications /

Anderungen vorbehalten

Art-Nr. 50150069

Installation Instructions/Installationsanweisungen

AC-SHFD Safety-Door-Handle / Sicherheits-Tiirgriff

Leuze

AC-SHFD (Part no. / Art-Nr. 50150069)

Pos. | Description Beschreibung Article/Artikel I\%ye/
1 | Sliding handle Schiebegriff 1
2 | M5x40 M5x40 4
3 |Bracket Haltebugel 1
4 | Safety Switch Sicherheits-Schalter L10, S200 *
5 | M5 Nut M5 Mutter 4

*

please order separately / separat bestellen

INSTRUCTIONS FOR USE

Periodically check the alignment, the proper working and the integrity of the article.

Avoid collisions. Excessive shock and vibrations could not ensure the proper working of the
device.

In case of damage do not repair, but replace the whole article; in particular, if the actuator (A) is
damaged, replace the switch (4) too.

During the assembly, carefully align the sliding part (1) with the support bracket (3) to avoid
misalignments between them when closing the handle.

A ATTENTION!
Q Apply high-strength threadlock glue on all threaded connections to prevent the

safety device from being disassembled by unauthorized personnel.

BEDIENGUNGSANLEITUNG

Die Ausrichtung, die richtige Arbeitsweise und die Unversehrtheit des Artikels regelmaRig
Uberprifen.

Kollisionen vermeiden. UberméaRige StéRe und Vibrationen kénnen die ordnungsgeméie
Arbeitsweise der Vorrichtung beeintrachtigen.

Im Falle einer Beschadigung nicht reparieren, sondern den gesamten Artikel ersetzen;
insbesondere wenn der Betatiger (A) beschadigt ist, auch den Schalter (4) ersetzen.

Bei der Mongate ist darauf zu achten, dass der Schiebegriff (1) am Trager (3) ausgerichtet wird,
damit beim SchlieRen des Giriffs kein Versatz zwischen den Teilen entsteht.

Hochfesten Klebstoff fiir Schraubensicherungen auf alle Schraubenverbindungen
anwenden, sodass die Sicherheitssvorrichtung von unbefugtem Personal nicht
demontiert wird.

Leuze electronic GmbH + Co. KG, In der Braike 1, D-73277 Owen / Germany
info@leuze.de * www.leuze.com

Telefon +49(0)7021/573-0 2023/04



